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L A5 2a7:
1007 = 106D =

4435 x 1073 = 1003 =

719.7 =107 = 1002 =

100D = 1003 =

3% 10° = 205.9 10 =
398.5 x 100 = 172 = 1002 =
107 = 587.3 + 1072 =
9x 10 = 10D =

107 = 1004 =

5x 100D = 2 x 102 =
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SUAR

10N B DIEE
BEI BlCb:._ AO7:
1072 = 0.01 1077 =0.1
443.5 x 1007 = 0.4435 107 = 0.001
719.7 + 1072 = 719700 1072 = 0.01
1079 = 0.1 107 = 0.001
3 x 107 = 300 205.9 + 107 = 205900

398.5 x 107 = 0.3985
107 = 0.001
9 x 10% = 900
107 = 0.001

5x100Y =05

172 + 10 = 17200
587.3 + 107 = 58730
1077 =0.1

10 = 0.0001

—2 % 10% = —200
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